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Question Number : 1 Question Id : 70819113321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819144001.

70819144002, 2

70819144003.

70819144004, -

Question Number : 1 Question Id : 70819113321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
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-4
Options :
el
70819144001.
122

70819144002, 3

70819144003. 2

70819144004. -

Question Number : 2 Question Id : 70819113322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is et The sum of the cubes of its terms is :

Options :
31
13
70819144005.
108

70819144006, 12

M| Ej

70819144007.

5
70819144008. 7



Question Number : 2 Question Id : 70819113322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ dums@s bsrifle o drer woapn eplussailar &@Hso 3 LOHNL HS

2 muinsseflen eufésmseilen & ([Hse 5. 2AbS 2 muLéseflan epenm <i(Hd@seflen

Fa(hge
Options :
31
13
70819144005.
108

70819144006, 12

e
70819144007, 2

5
70819144008. 7

Question Number : 3 Question Id : 70819113323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819144009, F =P V4

70819144010, P~ 9 =P

70819144011, @ PV @) v (~9)



20819144012, PV P}~ (q v (~q)

Question Number : 3 Question Id : 70819113323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EpssanL Lelwen snmésafla erg G@wUnd @b ?
Options :

70819144009, ¥ =P 4

70819144010, (P~ D =P

70819144011, P~ PV @) v (~9)

70819144012, PV ~P) A (@ v (~q)

Question Number : 4 Question Id : 70819113324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and x= l a", y= l b" z= l e I . l_; J are in Arithmetic

n=( n=( n=(

Progression, then :
Options :

70819144013, & b and c are in Arithmetic Progression

70819144014 a, b and c are in Geometric Progression

70819144015, & 2b and c are in Arithmetic Progression



70819144016, & b and ¢ satisfy 2b-=ac

Question Number : 4 Question Id : 70819113324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
a, b LHMID ¢ ereruen &(h Tl (HS6STfléd =i6mwLd.

L

70819144013.

a, b LHmib ¢ ereiuam gF &ums@&HsHsTfld senwwLb.
70819144014, ¥ 7 77 (5 LlLIHE G55

20819144015, & 2b oHmId ¢ eTeiruem (1 Fal (HSHlSmiler jenLowyLb.

a, b HmID ¢ ereiruer 2b2=ac GTe MEUMM 2 GTET6H.
70819144016. PO GEE 16 GITDEUMM 2 GTeme

Question Number : 5 Question Id : 70819113325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-::: 2 -
l;211 Fn+5

= = is equal to :

n
Options :

70819144017, 19e+5

70819144018, 19¢—5

70819144019, 16€—5



70819144020, 16e—7

Question Number : 5 Question Id : 70819113325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2I?r’n.IS

Lo u]
. 2n

i
e n!

-6l DSl
n=1

Options :

70819144017, 19e+5

70819144018, 19¢—5

70819144019, 16€—2

! |

70819144020, 16€-

Question Number : 6 Question Id : 70819113326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819144021, 2

70819144022.

|

70819144023.

70819144024, 1



Question Number : 6 Question Id : 70819113326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

109+ (3% (4°2) +\ arerugl 9-6 a@u@Lmm edar Wasdflu wpe eram \ -6

&l Ly
Options :

70819144021, 2

70819144022,

~]

70819144023.

70819144024, 1

Question Number : 7 Question Id : 70819113327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819144025, 435

70819144026, 421

70819144027, 435

70819144028, **1



Question Number : 7 Question Id : 70819113327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@Gy sarsdayarer Genewmwunar epern Can(saflen g 4,5 whmb 6 Ueteflsar 2 ereren.

arhgeumm HienE g Gonull yarellsend Gy el Lgdld @aawmogib,

apsCeurm ppearm yareflsenb QediCan Carhseld @mbs qm GCarl()
Lerafleerns @leenmoeyd, flwns epemm Laratlsar eulpliew blgaeomm cuenmiiblumib

aul_Lkusetlan eremenfléens
Options :

70819144025, 435
70819144026, 421

70819144027. 435

70819144028, 41

Question Number : 8 Question Id : 70819113328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1
Ify= m—]ﬂ has an extremum at the point (2, —1), then the values of a and b are :

(x=T1)(x

Options :

70819144029, @=1,b=0

70819144030, 2= b=1

70819144031, =0, b=~-1
a=-—1, b=1

70819144032.



Question Number : 8 Question Id : 70819113328 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ar—b

a0 e-9) eramig (2, 1) ereamm yemefluided BLGLM des WESn wE e
-1 (x ; - :

(extremum) e b erefle), a LOML b -6 wLAULESE

Options :

70819144029, a=1, b=0

70819144030, 2=% b=1

70819144031, 2=0 b=-1

70819144032, 2= ~ L P=1

Question Number : 9 Question Id : 70819113329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes ? {2';'. | ): 2}(’ F5=0 and ? I,ﬁl;" | 'J,)y f,kJ F2=01is:

Options :

70819144033, 13
70819144034, 4

70819144035, ¢

70819144036.



Question Number : 9 Question Id : 70819113329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g g A Al = [ A A Al )
r: (,2;' by EI(J +5=0 oML r- I,ﬁi b3 -6k|+2=06Teln Semhis(EhdE, Qe (Swiwaren

&I

Options :
o
70819144033, 13
15

70819144034, 4

70819144035, ¢

70819144036.

Question Number : 10 Question Id : 70819113330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 .
The probabilit}-' of solving a pmhlmn in Mathematics b}-‘ two students X and Y are Z and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:

[~

-2
=

70819144037.



70819144038.

70819144039, 2U

Gl

70819144040, 20

Question Number : 10 Question Id : 70819113330 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

senflgsdle) 2 arer @ Unésamaren X wpmid Y ereirn @ wremtel f&ar S7LLsHsTen

o : o B} g o, ol gl e "
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Options :

-

70819144037, 20

70819144038.

70819144039, 2U

& .

70819144040, 20

Question Number : 11 Question Id : 70819113331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The polar form of the cnmplex number 1+1 is r_-qual to :

1—1i
Options:
+;:mr:-1E [ z':aini
2 2
70819144041. = =
cos s { Sin%'
70819144042. -
cns'—_T [ z'zaini
70819144043. ' '
cos L i sf_ni
70819144044. ' '

Question Number : 11 Question Id : 70819113331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

14:

- erenm Sevlibluemmentlenr H(mey 6 @b
1

Options :
cnsz I faini
9 9
70819144041. e e

cos % i ain%
70819144042. = B

CcOS — + 1 sin—
70819144043. : :

cos 1 [ :-11'.1‘:E
70819144044. '



Question Number : 12 Question Id : 70819113332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819144045.

70819144046, -

70819144047.

70819144048, 1

Question Number : 12 Question Id : 70819113332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1,0) pmd (3, 0) ererm yeraflgemmad @eaemsslbunn CamHuuEdeaw 2:1 eearmn
dldlssdle Afss Cs Carl NlumdéE Cat@ssns o arer Camloear Fwemumn(y
prlzhie) = 0 el Yl LS J

= "y ; Ci.*
ax=7 clenlled, a -enr L&l

Options :

I

70819144045.

70819144046,

70819144047.

70819144048, |



Question Number : 13 Question Id : 70819113333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2x =0 with respect to
the line x +y=2, is :

Options :

70819144049. 2 +y?—2x+4y+3=0
70819144050. x2+y—4x—2y+4=0

ST, SO
70819144051, 2X=+y) —x+y+1=0

2 + ST, P al
70819144052, X TY¥ ~2x—4y+3=0

Question Number : 13 Question Id : 70819113333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+y=2erenm Carligemary Gummss x2+17-2x=0 aemn eulL Gdlen Sewreanr.
)

Y

ibuwmrer eult sélen Foamin
Options :

70819144049, X t¥°—2x+4y +3=0

70819144050. 2+ —4x—2y+4=0

W aed b gy} — 2 L N [
70819144051, 2% +¥)—x+y+1=0

2 ¥ e il
70819144052, * Yy —2x—4y+3=0

Question Number : 14 Question Id : 70819113334 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

(

Equations of the common tangent of the ellipse =1 and the circle

X4
;
(x+1)2+(y—1)2=4 are: B

Options :

70819144053, ¥+3=0 and x=1=0

70819144054, ¥ 2=0 and y+1=0

70819144055, ¥*+3=0 and x—1=0

y+3=[] and y—1=lf]
70819144056,

Question Number : 14 Question Id : 70819113334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(+1)° -1’

g s L . . . i 2 i 2_. . (L L0y
7 2 =1 eranm Hereul L wHMWL (x+1)*+(y—1)*=4 eremm el L &Sen

Clungsd CenHCsrhseilan swemLm(se
Options :

09 e O
70819144053, Y T3=0 wpmw x—1=0

70819144054, ¥ ~3=0 wHOID y+1=0

70819144055, *+3=0 wHQID x—1=0

70819144056, ¥ +3=0 womw y—1=0



Question Number : 15 Question Id : 70819113335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 a
If A= {” J , then Ak (keN) is :

Options :

70819144057.

70819144058.

k ka
0 k.

70819144059.

{l kﬂ
0 0
70819144060. - '

Question Number : 15 Question Id : 70819113335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d

whmib (ke N) erefled, Ak ererLigy

0

Options :

70819144057.

1 k‘a
[] 1 -

70819144058.



k ka
0 k.

70819144059.

1 ka
0 0
70819144060.

Question Number : 16 Question Id : 70819113336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
X, +2,1'2+ 3,1'3: 9
xy+3x;+sx3=t

has no solution, are :

Options :

70819144061, $=2, t=13

70819144062, S#5

70819144063, S=2> t# 13

70819144064, 17 13

Question Number : 16 Question Id : 70819113336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Xyt +13=5
Xy +2x,+3x,=9
Xy +3x, +sx,=t

erenm el () CsrEldng Sieysear @aansemm Sewub s wHmb t -safler

Ww&lluS&en



Options :

70819144061, 5=, t=13

70819144062, S=5

70819144063. °

70819144064, 1 * 13

Question Number : 17 Question Id : 70819113337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. . f )
: . =1
5 | with respect to sin
e B \1+x" )

i
Derivative of tan ‘ in (1, =), is:

Options :

70819144065.

70819144066. ~ 1

70819144067.

-2

70819144068.

Question Number : 17 Question Id : 70819113337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ey szl B ] : "

; 20, N ;= o : =1
1, @) ereirm Mhissslc, S = | —enwl Glummss tan
~ / P 1+ x2 oH 1 %
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igllel kbl LD
Fd

i



Options :

70819144065.

70819144066, ~ !

70819144067.

-2

70819144068.

Question Number : 18 Question Id : 70819113338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1, Ik axlaxc_ tb=0, then

3 =

— —
Let a, b and ¢ be three vectors such that ‘a‘=

ﬁ

b

!\J|

—5

i
the acute angle between a and ¢ is:

Options :

NP

70819144069.

4

70819144070.

m
3

70819144071.

5m
7]

70819144072.

Question Number : 18 Question Id : 70819113338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

‘ — —3 —_

=1 erempeunm 2 arar epenm GedELisar a, b LHML ¢ L.

~

Lkl
al=lbl=

I\Jl

— - e

—5 —5 -3 —5 )
a x[_a X c,] Fb=0 erafled, a wOHMD ¢ -&@E e o @&mnmts e

Options :

NP

70819144069.

4

70819144070.

a
3

70819144071.

s

12
70819144072.

Question Number : 19 Question Id : 70819113339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Solution of the differential equation (1 +y?)dx = (tan~ly—x)dy is :

(where c is an arbitrary constant)

Options :

a -1 —tan_lj.,r
70819144073, Y~ 1 tan ‘ytce

- 1 tan x
70819144074, Y~ @™ Y- 1t ce

. -1 —t:'m_ly
70819144075, X tan y-ltce

. ; 1 tan 'y
70819144076, = tan y-l-ce



Question Number : 19 Question Id : 70819113339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+yH)dx=(tan~ Iy —x)dy ereirn cuenasOsp #werumiger §iey
(@E S c eremug gGsend em wmmHledl)

Options :

a -1 —tan_lj.,r
70819144073, Y~ 1 tan ‘ytce

1 tan 'x

70819144074, Y=@n "y 1tce

- -1 —t:'m_lj.;
70819144075, X tan y-ltce

70819144076.

Question Number : 20 Question Id : 70819113340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

W . % .
The values of x, for which the vectors a = (1'2 16)1+4 j— (x"~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819144077, |2 —4l v [4.5]

70819144078, =2 4) w (=4, 3]

70819144079, (72 ~4) v (#5)

70819144080, (> H Y (74 3)



Question Number : 20 Question Id : 70819113340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—2 o A i - . . . . . . .
a=(xv-16 i+41 -5k e CeusLnser, swWsEgETane ESSERL Wanss
4 — ! o — S [;

Sengller @EnrGCsTansms o (haund@n x -6l WHULSET @)HEEHD S[RELD.

Options:

70819144077, L2 ~4l w14 5]

70819144078, 72 4) v (=4 3]

70819144079, (7> ~4) v & 5)

70819144080, | 2PV (=45)

Mathematics Section B

SectionId: 708191464
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191744
Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 70819113341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™ 11+ cos2x
S o,
0

3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819113341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- {14 cos2x . s
H— dx -6 W&y _
0

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otan?0 + 4cot?® -6 W&fm wdHoy

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819113343 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X 7
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 23 Question Id : 70819113343 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
—x+6 _ w3 =

= erenm Gamligne; (1, 2, 3) ererrm yemaflladlmbay euanmuiini(pid

3 2 2

Clet@ss smn

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113344 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

k!

| are in Arithmetic Progression, then the value of x is

If log, 2, log, (2* - 5) and Iog-i( 2
_ . {

3 | =1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113344 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
logz 2, logs (2*—5) wmmid Iog;;‘ i ;\ ereiren 6 Sl (NSEsTLfler Senwbse,
\ 2)

T-o0n w8 _ . - -



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819113345 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

¢ 2

If x2+x+1=0, then J{I i|2 | | £2
x)

|\

Response Type : Numeric

=
Py | ) I
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819113345 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+x+1=0 arafle, {'xx %f |'f1,2 Lr |‘fxﬁ sz
\ J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 26 Question Id : 70819113346 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y?—4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113346 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, 5) eremp yerefllelmbg x2+y2—4x—2y—-11=0 arenmp el L &G euaquLILHD

CgmHGanhHadr wHmb Ahs el L Sdlar e Goly S TRIGET @anaThs) £ (heUTEE D
@ Broarssler upLy (F&7 SeGsele)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113347 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819113347 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e rmnuUluraelar srnsfl bomw Sl eless eafdsd opfluanbler s Hse
15. Cogib gmeaseafan aissmseafia smpsa 117 aaflla, bs Ureeen
geai'g?geaﬂ_uem FTS ;j_qz__ﬁ;é]a:-b*‘lebl aarentldens
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819113348 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, dc Z with ged (|a|, |b, |c))=1,
then jat+b+c+d| is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819113348 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(1,2, 6) womd (2, 5, 7) arenp yeraflsar afCGw Cedain womb 4x—y+z=15 erenp
sarsslnE Cem@sdsnaayb o arer sarddlar Fwarun(h ax+by+cz+d=0 oy@EW0.
a, b, ¢, deZ womw ged (a|, bf, |c[) =1, eredflev [a+b+c+d =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819113349 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
The number of real solutions in the interval [ e T-‘ of the equation 4sin’x — 8sinx +3=0

15 -
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113349 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

3 st i
4sin’y —8sinx+ 3=0 eréirm FL0eMUM 1y H(S [ o5 | earn @ent Leaueflla 2 arer

s |

Sieyseflen cremenildens .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113350 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 1 10

Let Al, Az, A3, ....... be an increasing geometric progression. If T4 k_b_h_ﬁ and

A;A,=44]1, then 3(A,+A;)isequal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113350 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 1 10

ALAyA,y ... erenLiar (i &b UmE@HS Lemfle o crarer. A, Ag 63 L0DOLD
AA =441 arafled, 3(A,+A,) =

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Aptitude Test
Section Id : 708191465
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191745
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819113351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the ‘UNESCO" ?
Options :
70819144091 United Nations Educational, Scientific & Cultural Organization.

70819144097, United Nations Educational Security Cultural Organization.



70819144093, United MNations Entrance Site C aIIing Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819144094.

Question Number : 31 Question Id : 70819113351 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"UNESCO’ eréimi&en (Lo(Lpedig GuLD eTéeirant 7

Options :
70819144091 United Nations Educational, Scientific & Cultural Organization.

70819144092, United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819144093, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819144094.

Question Number : 32 Question Id : 70819113352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819144095, D-{), (ID-(@), [ID-(d), (IV)-(c)

20819144096, (), (ID-(d), (ID)-(a), (V)-(b)

20819144097, 1-(a), (I)-(b), ([I)-(c), @V)-(d)



70819144098. (0)-(b), (I)-(a), (HD-(c), AV)-(d)

Question Number : 32 Question Id : 70819113352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QL5 855,
UL 1quie0 - 1 L 1guieo - 11
1)  amre ..l Grage (a)

(1) Quefledl Ceuailmailer o emer (b)

Limedldl euml_L T

(1) Qul_Grremen Leum (c)

(IV) saaennd ClFwsD (d)




Options :
70819144095, {D-(b), (ID-(a), (ID)-(d), (IV)-(c)

20819144096, (D), (ID-(d), (ID)-(a), (IV)-(b)

70819144097, D@, (ID-(b), ([D-(c), (IV)-(d)

20819144008, O 0) (1D-@). {)-(c), (V)-(d)

Question Number : 33 Question Id : 70819113353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819144099, Db}, (I)-(c), (LD-(d), (IV)-(a)

70819144100, (D-(b), (ID-(d), (TM)-(c), (IV)-(a)
20819144101, D), ()-(@), (ID)-(b), (IV)-(d)

20819144102, W-0), (I)-@), (LD~(d), (IV)-(c)

Question Number : 33 Question Id : 70819113353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

U iguieo - I ohmib Ul iguieo - IT enws Gluimmés .

UL iquieo - 1 L 1quieo - I
() &b (a) ef&GLmilwr Blenemey awrL_LID
(1) Clcvedl (b) wusfprs Carula
(1) uGHLuLT £&Ef (c) &lirdl wEd
(IV) Garéass (d) yevaiTL &Teumsym
Options :

70819144099, DB} (I)-(), (I)-(d), (IV)-(a)

70819144100, (D-(b), (I)-(d), (TM)-(c), (IV)-(a)

20819144101, -, ()-(@), (1)-(b), (IV)-(d)

70819144102, V- (®) (1D-@), (D-(d), (IV)-(c)

Question Number : 34 Question Id : 70819113354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

70819144103, (D), (I)-(c), (D-(a), (IV)-(d)

20819144104, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819144105, W9 (D)-(@), (D-(d), AV)-(b)

70819144106, V) (ID-@), [I~(c). IV)-(d)



Question Number : 34 Question Id : 70819113354 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Liguwiev - T ohmib uliquiew - I epwil Gummss)s.

LI g uwie0 - I LI 1qwiev - 11

() usyr GarienL (a)

() Ssar G (b) ‘;
() BrETHSTL LOSMOESLSD  (c)

(IV) Qmsarmré Garule (d)

Options :

70819144103, (Db, (I)-(), (D)-(a), (IV)-(d)



70819144104, (D-(@), (ID-(b), ([D)-(c), (IV)-(d)

70819144105, D) (I)-@), (D-(d), IV)-(b)

20819144106, V(P) (ID-(@), (D)-(c), (IV)~(d)

Question Number : 35 Question Id : 70819113355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

70819144107, D) -@), (D-(b), (IV)-(a)

70819144108, (D-(©), (ID-(d), (1ID)-(a), (IV)-(b)

70819144109, (D-(d), (ID-(b), (IIDc), IV)~(a)

70819144110, (D-(b), (I)-(d), ([D)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819113355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U iguieo - T ohmib ui_iguwed - I enwils Glummsgis.

UL qweo - 1 UL 1gweo - 11
M wsellbsrr GsmLib (@)  wewrmedl
(1) eSleweamy Gamule (b) =lissTeD
(Im) abldour Carulle (€ YiesCami
(IV) amfl widir (d) weflwr
Options:

20819144107, D) ()-(d), (D-(b), (IV)-(a)

70819144108, (D-(©), (I)-(d), (ID)-(a), (IV)-(b)

20819144109, (D-(d), (1D)-(b), (ID)-(c), IV)-(a)

70819144110, (D-(b), (ID-(d), ([D)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819113356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options:
20819144111, (D-@), ()-(d), ([D-(b), (TV)-(c)

70819144112, (D-(d), (I)-(c), (ID)-(@), (IV)-(b)

70819144113. (D-(d), (I)-(c), (ID)-(b), (TV)-(a)



20819144114, 9@ (D-(b), {D-(d), (IV)-(c)

Question Number : 36 Question Id : 70819113356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UL iguwiev - I whmib uliguweo - IT enwils Glur(mEEis.

L 1guwieo - I UL iguiev - II
(D) Glwanrrsianr GHrl_en_ (@) emamsyTUTSH
(I & Carlen (b) Clarawsssm
() CamaGlaramrm Carl_an_ () Gliévedl
(IV) GamenL aflebabliih d) Cgmrsum
Options :

70819144111, (D-@), ({)-(d), (D-(b), IV)-(c)

70819144112, (D-(d), (I)-(c), (ID)-(a), (IV)-(b)

70819144113 (D-(d), (IT)-(c), (ID)-(b), (IV)-(a)

Soa1914411a. 0@, M-B), D-@), (V)

Question Number : 37 Question Id : 70819113357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819144115, B-V- Doshi

70819144116. Arundhati Roy



70819144117, Revati Kamat

70819144118, Dimal Patel

Question Number : 37 Question Id : 70819113357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘God of small things’ erenm LS&&&as er(pHw @B &1 11 Ssama Sene(ehiT W ?
Options :

70819144115, DV GO

70819144116, < HBHS 710

70819144117, “Vaudl smoL

70819144118, W@ LGLD

Question Number : 38 Question Id : 70819113358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819144119, Suiarat

70819144120, "Vest Bengal

70819144121, amil Nadu



70819144122, Rajasthan

Question Number : 38 Question Id : 70819113358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘wCrrar (Jharokha) erenm m euensiuran Faneanad ¢Ths rblawsda Gmadng ?
Options :

70819144119, ©&B713

70819144120, °°PG GURISTETLD

SUODBT(H
70819144121. = °

(@) renEST 6l
70819144122, 2" "BV

Question Number : 39 Question Id : 70819113359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction 7
Options :

70819144123. North-West side

70819144124. South-East side

70819144125, [North side

70819144126. South-West side



Question Number : 39 Question Id : 70819113359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E)ndlw g emandsamLsSld Lmeaudamn Weneumb ahs Slasuid @ mbs eumdng ?
Options :

aul_GLmeE L&SLD
70819144123. s

70819144124, ASTELES LESD

70819144125, 26 L&SLD

ke w;..[_-_: & '_ g
70819144126, SETELDE LEELD

Question Number : 40 Question Id : 70819113360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819144127, Bt Bhavan in Bhopal

70819144128. LIC Building in Delhi

70819144129. Charminar in Hyderabad

70819144130. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819113360 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ndwurelled Seareumd erhg &Ll b sraaflurdlés &gl & same eulgeenlil
wrélflenw Erdlualsdlns

Options:

20819144127, 2MH wewen - Gurure

20819144128, -&-8. &gl 1D - ClLded

FTTlemT - enam&rrursg
70819144129. e ;

efl&CLmflwur flenamey et LD - C&TaSEST
70819144130. g i

Question Number : 41 Question Id : 70819113361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
20819144131 420 x 590 (mm x mm)

20819144132, 420594 (mm x mm)

70819144133, 297 ¥ 420 (mm x mm)

70819144134. 420 % 592 (mm x mm)

Question Number : 41 Question Id : 70819113361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A2 auenrgmeflen emey eremen ?
Options:

AN '} . & W C .[h]

20819144131 420 % 590 (1Ol x 1ol 15)

70819144132, 420594 (Bl > 18110

207 5 420 (1A 18 5 180 (&)
70819144133, 297 %420 (1815 X 151.15)

AN " f 3 & g r -n...l
70819144134, 120592 (1O1.5 X 11.1D)

Question Number : 42 Question Id : 70819113362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819144135, Chittor fort

70819144136, J'ﬂigarh tort

70819144137, Bhangarh fort

7081914413g, ‘+mer fort

Question Number : 42 Question Id : 70819113362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘ed&Lf Leur Wemeumid ethd CamlieanLenUF Frihags) ?



Options :

70819144135, 68T Gam_enL

Cleow smm [-;: - TL_en
70819144136. /-]L.f:-“J‘EF‘I M oS M_amnL_

70819144137, = = ETADT Carl_anL

70819144138, — L1 (el ML6nL_

Question Number : 43 Question Id : 70819113363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819144139, Samjay Puri

70819144140, Vikram Lall

70819144141, Ashok Lall

70819144142, & Sompura

Question Number : 43 Question Id : 70819113363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Genau(mid &L igt & enevghiaafle) LaEALND ‘Sidagismd Camlama agaamnsau
Wi ?

Options :



70819144139, FEHFH &

70819144140, EH1&TD e

70819144141, <281 & eomen

Question Number : 44 Question Id : 70819113364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Volume Zero” Documentary is on which Architect ?
Options:

70819144143. Charles Correa

70819144144. Richard Mier

70819144145, 1asbir Sachdev

70819144146. Ranjit Sabliki

Question Number : 44 Question Id : 70819113364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘eured sSCrm eremueng < euanTUILIRGHW SLig L & Sane@EhT Wt ?
Options :

70819144143 grieoan Qamflwim



70819144144, T&TL Wi

20819144145, BEVUT 8&G5aL

70819144146, " HTH LIS

Question Number : 45 Question Id : 70819113365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change

70819144147.

70819144148, ©lobal warming

708191441409. Sustainable development

70819144150, >mart city

Question Number : 45 Question Id : 70819113365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘| Clsparm 21" yilefliy eraen e QsmirjenLwig) ?

Options:

70819144147. §Cgmaigant Blena LomHHLD

2 @& (cleu L WWLDT&ED
70819144148. :



20819144149, SDDEGRRIEES LTS THUBSSTS cueri &S]

70819144150, BT & BETLD

Question Number : 46 Question Id : 70819113366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?

Options :
70819144151, Rarnataka
70819144152, ©Orissa

70819144153. Maharashtra

70819144154, Uttar Pradesh

Question Number : 46 Question Id : 70819113366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G\ hdlwreller erhs wrbladsdld SErEF HTERSD 2 6Targ ?
Options :

70819144151, #MPILTE

70819144152, @187

LDGUT) ITIT ITG1% L [T 1T
70819144153. S



70819144154, Z-EHTETCaeLd

Question Number : 47 Question Id : 70819113367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819144155, North

70819144156, Scuth

70819144157, Cast

70819144158, West

Question Number : 47 Question Id : 70819113367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ggen anrCarengdle Hlpelaar qefl erhs dasutla @) mng eumdlng ?

Options:

70819144155, =%

70819144156, °&PVE
&
70819144157.

70819144158, O



Question Number : 48 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819113368 Question Type : MCQ Option Shuffling : Yes

The first Indian Architect who has won Pritzker Prize in 2018 is :

Options :

T s
70819144159, D-V- Doshi

70819144160, Laurie Baker

70819144161, 2 Rewal

70819144162. Achyut Kanvinde

Question Number : 48 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819113368 Question Type : MCQ Option Shuffling : Yes

2018 - Ll evai ufla Gumn & @ hdlwu Sy L & Sene@esm wir ?

Options :

BV. Gzrad
70819144159. -

70819144160. Ceverfl LGS

rmsn Creued
70819144161. Al R

=mls HellanGs
70819144162. & :

Question Number : 49 Question Id

: 70819113369 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819144163, Bengalurm

70819144164, banaras

70819144165, bengal

70819144166, DTt

Question Number : 49 Question Id : 70819113369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Lnigenm erenm Glara @ dHledlmpg Carammiug
Options :

70819144163, WS EHTLD

70819144164, e TIEV

70819144165, O BETD

70819144166, =

Question Number : 50 Question Id : 70819113370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819144167, Laurie Baker

70819144168, Louis Kahn

70819144169, Lutyen

70819144170, Le Corbusier

Question Number : 50 Question Id : 70819113370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DBGTUTESl) 2 6TaT 8.60.6TLD 6THS &L Ig L & SEMEIGHTTE) 6ulgUENDESILILL &) ?
Options :

70819144167, Cleverfl La

enulen smeso
70819144168. °

70819144169, L3 1en

70819144170, ©7 - SMrLELILN

Question Number : 51 Question Id : 70819113371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

()

70819144171, 14

3

=

70819144172.

(=1

70819144173, 12

—

70819144174, 18

Question Number : 51 Question Id : 70819113371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Semeumbd euenTlLIL SHl6) eTHHenen &7 BIGET 2 cTeTem ?

Options :
4

(-]

70819144171.

=

70819144172, 13

5

=

70819144173.

8

—

70819144174.



Question Number : 52 Question Id : 70819113372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819144175.
I| [
I
I
70819144176.
-
_I .-
| |-
70819144177.

70819144178.



Question Number : 52 Question Id : 70819113372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Memeumd wouflorer Aurmener e (heurss Sianandgl Wi ILSEHLET gl ¢

GUENTLIL LD 6Ll Icp'éjdall_ll_ll;d-]lté:'ta"@. gilwrer gemenm E_Ijgjl",l'r;ﬁ::bj-]l.

Options :

I e
| I
70819144175.
|
|
70819144176.

70819144177.



70819144178.

Question Number : 53 Question Id : 70819113373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819144179.

70819144180.



70819144181.

70819144182.

Question Number : 53 Question Id : 70819113373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ Qurmeflar 2 586 @ mbs umégn Cormnsams LM 2 mab s Hdéng.
D@0 uris@n Sasulla @mesn sflurear Carmndams eflaL o (meuddlelmbs

PRy
e (L.

—NX O
[

Options :

70819144179.



70819144180.
70819144181.
70819144182.

Question Number : 54 Question Id : 70819113374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :




70819144183.

70819144184.

70819144185.

70819144186.

Question Number : 54 Question Id : 70819113374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ urmefler 2 e @mps urid@w Carmnsams UM o meaub sr{Hdng.
UGN uriégn dosda @Qméed sflurar wslys Csrmnsams eflaL

2 (meudHlalmbs samhHlly.

—
|

Options :

70819144183.




70819144184.

70819144185.

70819144186.

Question Number : 55 Question Id : 70819113375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmblem t’igure shows the top view of an object. Identifj.,-' the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819144187.

70819144188.



708191441809.

70819144190.

Question Number : 55 Question Id : 70819113375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o Curmeflar e #lullée @mis urré@n Carmnseas LM 2 meub srlHdng).

oyl urré@n desdle Qmegn sflurar wsius Carmndms eflaL

2 (meuddledlmbg Hem(hll.

L <> ]

T

Options :

70819144187.

70819144188.



708191441809.

70819144190.

Question Number : 56 Question Id : 70819113376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the t'ollf}wing answer fig_ures is hidden in problem i’igure in same size and direction.
Select correct one.

Options :

70819144191. E

70819144192. D
70819144193. ':



70819144194, ﬁ

Question Number : 56 Question Id : 70819113376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ elenL 2 (meud @bs ety wHm Heoslld ySf o meuddld wamhg)emang

ghlwrer garan Caihels(H.

Options :
70819144191. >
70819144192. D
70819144193. v
70819144194, ﬁ

Question Number : 57 Question Id : 70819113377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Oneof the f nllowmg answer figurr_-s ishidden in problem f igure in the same size and direction.
Select correct one.

Options :

70819144195.

70819144197.

™
70819144196. Q
0
N

70819144198.

Question Number : 57 Question Id : 70819113377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1 ellenl_ 2 (LD

D b5 satey O dansle Ll 2 meusdle) warmHaerens.
sflwuran genanm GCaHEsEH.

Options :

70819144195. @

70819144196.



(v

70819144197. 6

70819144198. m

Question Number : 58 Question Id : 70819113378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819144199.

70819144201.

N
A
>

70819144202.

Question Number : 58 Question Id : 70819113378 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g ellenL 2 (heud 65 era] wHmb Hasuller AR o meushla wamhg)eeng|

gilwuren gerenn C&THES(.

Options:

70819144199.

70819144201.

N
A
>

70819144202.

Question Number : 59 Question Id : 70819113379 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819144203. D



70819144204. D

70819144205. O

70819144206. #

Question Number : 59 Question Id : 70819113379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ eflenL 2 (eud 45 era] wHmb Haasuller AR o meushla wamhg)ereng

sflwren genann CHTHAS(H.

Options :
70819144203. D
70819144204. D
70819144205. O
70819144206. ;

Question Number : 60 Question Id : 70819113380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
H
[]
X
Options :
[ 1]
70819144207.
[]
[ ]
70819144208.
[l
[]
708191442009.

70819144210.



Question Number : 60 Question Id : 70819113380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wpanCw X -X eremm ydlfl 2 meuddlenuilg eflen o (meuddlayenw sflwuren i by

2 (HeuULD eTg) ?

X
O
[
X
Options :
]
70819144207.

70819144208.



]
[l
]
70819144200,
[
[]
70819144210,

Question Number : 61 Question Id : 70819113381 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?




Options :

@\
&

70819144211.

D)
N

70819144212.

P

e

70819144213.

0N
N2

70819144214.

Question Number : 61 Question Id : 70819113381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wennGw X-X eremm USf 2 meusdlamuig eflen o meusdlanenw fluren g Gibu
2 (hHeuLD &Tg) ?

X X

Options :

70819144211.

70819144212.

70819144213.

&

70819144214.



Question Number : 62 Question Id : 70819113382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

/
i X

Options :
o
ZANY
?
70819144215,
N
LNV
2
70819144216,
N
P
\/l/\/
70819144217,

70819144218.



N4
AN

Question Number : 62 Question Id : 70819113382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wannGw X-X eremm udlfl 2 meugdlanin eflen 2 meuddlanenw sflwumer opi Gibu

2 (heuLD 6T ?
/ X
VZANN

/
5 X

Options :
e
7NN
?
70819144215,
N
L /N\Y
2
70819144216,

70819144217.



/N

70819144218.

Question Number : 63 Question Id : 70819113383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819144219.

70819144220.

70819144221.



70819144222,

Question Number : 63 Question Id : 70819113383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aT i leumm eflenL 2 (meuwd ppemmy LI 2 meurmsemen auflanaLiL(H&H Hlenmey G,

o
7
ar
i

Options :

70819144219.

70819144220.

70819144221.

70819144222.



Question Number : 64 Question Id : 70819113384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819144223.

70819144224,

70819144225.

70819144226.



Question Number : 64 Question Id : 70819113384 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@Bs wouflorer o mab gm durmellar Carondamsds sri(Hdmg. 2ibL@E

umig@n desdle Gmaa@ #flurar Cammnsas eflanL 2 meaddlalmbg samhHidi.

7

Options :

70819144223.

70819144224.

70819144225.

70819144226.



Question Number : 65 Question Id : 70819113385 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819144227.

70819144228.

70819144229.



70819144230.

Question Number : 65 Question Id : 70819113385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ns apuuflorer 2 meub g durmeflar Coronsmss sri(Héngl. =ibyEH

urié@h denslledr @me@n #flwuren Carndens eflenL o (meuddlamba saum(h .

\§

/1

Options :

70819144227.

70819144228.



70819144229.

70819144230.

Question Number : 66 Question Id : 70819113386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819144231.

70819144232.

70819144233.

70819144234.



Question Number : 66 Question Id : 70819113386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ns wuuflorer o meaud gm Aurmeilar Carbnsmss sTi(H&ng. <ibLEHM

uri&@h Hensuler @ mé@ L sflwurar Carmméang eflaL o mHeudsalmbg) Sam(hlly.

/I

Options :

70819144231.

70819144232.

70819144233.



70819144234.

Question Number : 67 Question Id : 70819113387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819144235.

70819144236.

70819144237.

70819144238.



Question Number : 67 Question Id : 70819113387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ns wuuflorer e men em durmailar Casrmnsamss sri(Hdng. <ibu@H

uis@D Sensuler @ma@w sflwrear Camnsams eflenL 2 meusdlalmbg seam(ily.

/ﬂ

Options :

70819144235.

70819144236.

70819144237.

70819144238.



Question Number : 68 Question Id : 70819113388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819144239.

70819144240.

70819144241.

70819144242.

Question Number : 68 Question Id : 70819113388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

ﬁﬂnﬁ@ wuufloresr 2 meub em urmellar o meusamssd sTL(HSng. <bDYGE

urig@n Sensla @maen sflurar Cammndans eflenL 2 (meusdl e mbg &em(Hly.

/

Options:

708191442309.

70819144240.

70819144241.

70819144242.

Question Number : 69 Question Id : 70819113389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819144243.

70819144244,

70819144245.

70819144246.

Question Number : 69 Question Id : 70819113389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@b wpluuflwrear 2 meaub @m durmeflar Csrmndmss sr_(Hdlmg). oibyEH

L@ desdle @ méEn sflwrar Carmndens ellenL o (Heuddledlmbg samHdli.

4

Options:

70819144243.

70819144244.

70819144245.

70819144246.

Question Number : 70 Question Id : 70819113390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819144247. '

70819144248.

70819144249.

70819144250.

Question Number : 70 Question Id : 70819113390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@rs wouflorer e meb g durmeiar Carnnsamss sri(Hdlngl. <wuEl

U@ Slevsdla G méEn sflwurar Carongams eflanL 2 eausdlallmnbg) s G

/

Options :

70819144247. '
70819144248, l
70819144249, '
70819144250, I

Question Number : 71 Question Id : 70819113391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819144251. —I

70819144252, l

70819144253.

70819144254.

Question Number : 71 Question Id : 70819113391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@65 wuuflorer o meub @m durmefler Carpnsamss sri(Rdng. <ibyEl
urré@ Sesda o arar aflwrear Carmmsans eflanL 2 meuddledlmbg &am(H .

/1

Options :

70819144251. —I

70819144252, l

70819144253.

70819144254.

Question Number : 72 Question Id : 70819113392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819144255.

L]
70819144256.
70819144257. [:]

L]

70819144258.

Question Number : 72 Question Id : 70819113392 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@hs wpouflwrear 2 meuld em Aurmeflar Carnnsamaes sri(Hdmng. 2byEH

urté@h desdler 2 arer sflurer Carmnsens eflen 2 meusdlailmba sam(py.

%

7

Options :

70819144255.
70819144256.
70819144257.

70819144258.



Question Number : 73 Question Id : 70819113393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
708191442509. l l

|
70819144260. | I
70819144261. | l

||
70819144262. l

Question Number : 73 Question Id : 70819113393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

g‘r_h Uil wrer 2 meud gm urmeflen Caronsmss sriHdng. obyEl
LImité eﬁ]m&J_ @ o grer sflwrear G rgwnﬁ el o (meuddlellmibg) &amhidly.

Options :

|
708191442509. l l

|
70819144260. | |
70819144261. | I

||
70819144262. l

Question Number : 74 Question Id : 70819113394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819144263.

70819144264.

70819144265.

70819144266.

Question Number : 74 Question Id : 70819113394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Qs wouflorer e maubd em Aurmalear Carnpsmss srl(Héng. <ibUEGD

uri&@n densla o erer sflwren Carndans eflen 2 (meusdHladlmbs &am(h .

/

Options :

70819144263.

70819144264.

70819144265.

70819144266.

Question Number : 75 Question Id : 70819113395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819144267.

70819144268.

708191442609.

70819144270.

Question Number : 75 Question Id : 70819113395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@ns wluuflwrear e meubd @@ durmeflar Carmnsmsd sri(Hdng. eflaL

2 meuddlellmpg aflurar o &flla @Qmbg uris@n Carmnsass sem(Hllly.

Options :

70819144267.

70819144268.

70819144269.

70819144270.

Question Number : 76 Question Id : 70819113396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819144271.

70819144272.

70819144273.

70819144274,

Question Number : 76 Question Id : 70819113396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ng wpuuflwrear o meubd em durmalar Caromsdmss sri(Hdng. elenL

2 heusdlellmbg sfurar 2 &8l @Qmbg UNisEn Camnsamss sam{Hdl.

Options :



70819144271.

70819144272.

70819144273.

70819144274.

Question Number : 77 Question Id : 70819113397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819144275.

70819144276.



=

70819144277.

=

70819144278.

Question Number : 77 Question Id : 70819113397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@rs wouflorar e meaub @m durmeflar Caronsamss sriBdng. e

2 meusdlallmbg sflurar o Hulde @mbg urid@n Carmnéamsd seum(Hidl.

Options :

70819144275.

70819144276.

70819144277.



=

=

70819144278.

Question Number : 78 Question Id : 70819113398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819144279, (&) and (B)

(B) and (C)
70819144280.

70819144281, (©) and (D)

70819144282, (D) and (A)

Question Number : 78 Question Id : 70819113398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

o C

U lo L e(pEIGanLDE m&s 2etellenan Yemeumd eflen o (meuddlallimhs Seim(hlg.
&Ll @phismey @nés Serellenar UeraumL eflenL 2 meudHlalmbs sy

(A) (B)
© D)
Options :

70819144279, (A) LDOMILD (B)

70819144280.

70819144281, (©) Leomie (D)

70819144282.

Question Number : 79 Question Id : 70819113399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

Options :

I
70819144283. |-|-




70819144284.

70819144285.

70819144286.

Question Number : 79 Question Id : 70819113399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YsIfl 2 meud e Wummeflan 2 &8ulle) @mibg LmiEED Cammnsmss sri(Hdns.

S byEH urié@n Hesla odaer sfluren waliusd Casromsms eflenL

2 (meudHallmbg el

L L] L
v v AR
v':'.:.fﬁ

Options:

Il
70819144283.

70819144284.

70819144285.

70819144286.



Question Number : 80 Question Id : 70819113400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

<\
2

/

Options :

70819144287.

70819144288.

70819144289.



70819144290.

Question Number : 80 Question Id : 70819113400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L&Ifl e meud g Curmeflan 2 &luller @ mbg LNTéEn Carmnsamad sri(Hdns,.
0yE0 urré@w deoslle oder sflurer wsliuys Csronsems efll
2 (euddlebl(mbgl sam(pidy.

A
P
V

Options :

70819144287.



70819144288.

708191442809.

P DD

70819144290.

Planning
Section Id : 708191466
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191746

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 70819113401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?
Options:

70819144291, Automobile

70819144292, Clothing and Textile

70819144293. Printing

70819144294, Iron and Steel

Question Number : 81 Question Id : 70819113401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wad 2 &l CurmEs weary SpssarL abg dsmipsrma eam_afld @darod

Qobssl ?

Options:

70819144291, “2b-CLT GloreLid

HmID g6 el

70819144292, S0 o)

70819144293, <21¥5S Tl

70819144294, S(HLL WHHID @0 6D

Question Number : 82 Question Id : 70819113402 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of ___ released into the atmosphere.

Options :
70819144295, Nitrogen

70819144296, Greenhouse gas

70819144297, ©zone

70819144298. Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819113402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Spssan, agan QeaaliCuppd e Qeaaflded sriudar sréd sLmsemar
2 Heun&@dlng ?
Options :
L_irene

70819144295, “"P=1E

usenw el(h eflenemency 2 (MHEUT&@ED eum
70819144296, — e (HeUTES H

CFmrem
70819144297, & =4

DG GiEenaeT (SPM
20819144208, TR0 SiEander (SPM)

Question Number : 83 Question Id : 70819113403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panchgani

Mg N ®

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options :

70819144299, E7D—=B—-A—=C

70819144300, E7B—=C—=D—A

70819144301, € 7A—>B—-D—E

70819144302, * P~ C—B—E

Question Number : 83 Question Id : 70819113403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A)  (OsrenLdamaed

©leh

) LDGyERTL <L

0 =

(
(
(
(D) uErs sail
(E) wusearDd
Consem_ waaerss setismer Qbdlumedlan Clenslalmbs) eulssrs auflensiubhas),

Spssem_cupmer sflurarens Caib6sHEsayb.

Options :
70819144299, E7D—=B—-A—=C

70819144300, L7 B—=C—=D—A



70819144301, ¢ 7 A—=B—=D—E

70819144302, A 7 D> C—B—E

Question Number : 84 Question Id : 70819113404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning Commission in India has been replaced by :
Options:
70819144303. Mo HUA

70819144304, "ITT Aayog

70819144305, NIUA

70819144306, FHL

Question Number : 84 Question Id : 70819113404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BLog BT lgen Sl &si8lapen)&E OIHNHIE eSS L BjenliL] ?
Options :

70819144303, Mo HUA

70819144304, NITT2blowTs

70819144305, NIUA

70819144306, P



Question Number : 85 Question Id : 70819113405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone's Act enacted in India ?
Options :

70819144307, 2005

70819144308.

70819144309, 2009

70819144310, 2011

Question Number : 85 Question Id : 70819113405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HAmOiu CummerrgrT WweTL 6 UL LD 6THS < ar(h ERdlwuredla flenGaunmlul_Lg ?
7 l_l W/ i i =h o .\ﬁ, i . i il =

Options :

70819144307, 2005

70819144308.

70819144309, 2009

70819144310, 2011

Question Number : 86 Question Id : 70819113406 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options:
70819144311, National Horticulture Association of India.

20819144312 Mational I—Tc-ritagc- Authf}rit}-' of India.

20819144313, MNational H}-‘dmelr:-ctric Power Auﬂmrit}-' of India.

70819144314. MNational Highwa}-' Auﬂmrit}f of India.

Question Number : 86 Question Id : 70819113406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
NHAI-ain wp(p eflfleurdsid SpdsentLeubmer erg) ?

Options:
70819144311, Mational Horticulture Association of India.

70819144312. National Heritage Authority of India.

70819144313, National Hydroelectric Power Authority of India.

70819144314, National Highway Authority of India.

Question Number : 87 Question Id : 70819113407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Dr_-velopmc-nt Goals were adopted h}-‘ the United Nations ?



Options :

70819144315, 15

70819144316, 10

70819144317, 17

70819144318. 18

Question Number : 87 Question Id : 70819113407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

médlw prHsafe crésenar Py bassas cuaridsl &mg Caraaer 2 6T eummhislILL L an ?
Options :

70819144315, 15

70819144316, 16

70819144317, 17

70819144318, 18

Question Number : 88 Question Id : 70819113408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options :

70819144319, 1947



70819144320, 1948

70819144321, 1950

70819144322, 1949

Question Number : 88 Question Id : 70819113408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@idwreila upgarpsarns eriiGurg e QAgrln Cararans blefldsiuLg ?
Options:

70819144319, 1947

70819144320, 1948

70819144321, 1950

70819144322, 1949

Question Number : 89 Question Id : 70819113409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819144323, Superblocks

70819144324 radial pattern

70819144325, high rise development



70819144326 walerbased transport

Question Number : 89 Question Id : 70819113409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
urrflGeranr payddlen S L0 & SpssarTL eran@ Quwr Curang) ?
Options :

20819144323, GHLT GSTESSET

70819144324, <27 EUlgetleven <HenoUL

70819144325, b3 aueTihs LGSl

T GOOT IT ¢ yreot GLITE@EEUTS
20819144326, B i epeuomen GUITEEeurs s

Question Number : 90 Question Id : 70819113410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options:

70819144327, Purgapur

7i T
70819144328 Vishakhapatnam

70819144329, Bhubaneshwar

70819144330, Bhilai



Question Number : 90 Question Id : 70819113410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sp&sa erg) QsTflDH BETDD@ ?
Options:

70819144327, SIS0
20819144328, Sl#m& LI g @D
70819144329, Heu 6l agpeul

70819144330, Wevmy

Question Number : 91 Question Id : 70819113411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :

70819144331, AMRUT

70819144332. Make in India

70819144333, HRIDAY

70819144334, VDAY



Question Number : 91 Question Id : 70819113411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G priiger SpssarL erhg S D urpbuflu parmsCar() Qsr_iyeLwg ?
Options :

70819144331, AMRUT

70819144332, Make in India

70819144333, HRIDAY

70819144334, U DAY

Question Number : 92 Question Id : 70819113412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :

70819144335, Tamil Nadu

70819144336. Karnataka

70819144337. Andhra Pradesh

70819144338, Kerala

Question Number : 92 Question Id : 70819113412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Qs Gﬂqﬁ:ﬁﬂ w b atgala ﬁm:@:@u} fﬂb" D HMTSH ol s s (&Qeﬂégﬁ &) <) G e
e & = L L - - e o
Hladsg. i uwerur’(f wrblaw g ?

Options :

r T o
70819144335, SLILEIG

70819144336, ETHTEN

70819144337, “BITETESED

70819144338, “w&IET

Question Number : 93 Question Id : 70819113413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819144339, 1886
70819144340, 1876
70819144341, 1866

70819144342, 1896

Question Number : 93 Question Id : 70819113413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India ( @BE w1 SemT&EESRCIL) eIl @ (ReuTHs U ILIL L <2y 6mr(h
J | 50D by L = 2hettlih



Options :

70819144339, 1886

70819144340, 1876

70819144341, 1866

70819144342, 1896

Question Number : 94 Question Id : 70819113414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73"d amendment act (73"4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819144343, Lok Sabha

70819144344, State Legislative Assembly

70819144345, Cabinets

70819144346, Fanchayati Raj bodies

Question Number : 94 Question Id : 70819113414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1992-91b Sy e en 73-eug) UL Smbssdlen Lg (73-eug CAA) a6 PeQOTE

- = e N o " e iy " = o N Ty .
@nflureiled QuansEndsrar QL @sE8[H euPBIEILL el

Options:



70819144343, 0 TEEUN

70819144344, CTHI@ SLL senLIsET

Wil fl FenLiger
70819144345. ;

70819144346, ZEHFTLSSHITTER /60 DLLSET

Question Number : 95 Question Id : 70819113415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

< 210

- 205
= 200

Street O

200

- 205

% 210
r'ﬂ' ’_,-“ 2]5

S Water body Market Contour N
m Vegetation M Police Station Temple
E Railway 5tn [|:|:|:|:|:|:|:|] Hospital i School

With reference to the diagram, choose the correct statement.

Options :



S[npe of land on which school is located is flatter than the slnpr_- of land on which

20819144347 1ospitalis located.

Slope of land on which police station is located is steeper than the slope of land on
70819144348, which school is located.

Slope of land on which school is located is steeper than the slope of land on which
70819144349 temple is located.

Slope of land on which school is located is the same as the slope of land on which

70819144350. temple is located.

Question Number : 95 Question Id : 70819113415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading

“StreetE
Street B

................

Sk Water body Contour N
Vegelalion M Police Station Temple T

GuCe o erer cuenTuL sl Qumsg), Spssan abs aursdun eflwreng

Options :

UeTal enwbgienar @I Sdlen srie) WHSHeDaan enbbgiaTar G & e
70819144347, STLeal eflL sLeLLITETE).

sreucd Blanewid 2 emar @)L sdlem #mie UeTafl dienwbgieTer @)L 5Elen smiame.

70819144348, - EHEBEIAE).

Letafl e baerar @Lsdlen smiey Carelld senwhgierar @ &dler #mieame
20819144349, Sl Gem@ssrang).

LeTarl 2jenohg)eter @ sdlen smieb GCarelle iembglerar @ s&len Frieyb
70819144350, 7001



Question Number : 96 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading,

: 70819113416 Question Type : MCQ Option Shuffling : Yes

-LIJ

” p
g L
: z

: n 210

poecd | 205

_ 1= 200

Street C

200
-""'"‘

Lt 205

rd 210

i 215

] Waterbody [777777] Market
Vegetation w Police Station
E Railway Stn ”IIIHI[I Hospital

Contour N

X

Temple

“] School

[n the given diagram, for a person to travel from railway station to temple, one will have to

move in direction.

Options :

70819144351, North

70819144352, North - East

70819144353, South - West

70819144354, East



Question Number : 96 Question Id : 70819113416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading

CStreet B

et
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g
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- 200
IE Street C

. 200
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CuCa 2 arer euenruLgdlen U gmeul @rle Haoausddmbs Carellass

Qedreusia erhs Slenguller Lwanflés GCeuarr(hid ?

Options :

70819144351.

70819144352.

70819144353.

70819144354.
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Question Number : 97 Question Id : 70819113417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading.

2] Wa

5% Vegetation % Police Station
E Railway Stn I]:I:I:I:I:I:I:I] Hospital

In the given

Options :

70819144355.

70819144356

70819144357.

70819144358.

Street C

. 200

ter bady Market

Contour N

Temple

4] School

W
.

diagram, water body is located at a level :

5m highr_-r than pnlicr_- station.

5 m higher than school.

same level as police station.

same level as school.



Question Number : 97 Question Id : 70819113417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

i ;.'.J...f.'.. 21 U

- 205
= 200

Street C

S ] Waterbody |/ Market Contour N
E’E@ Vegelation m Police Station Temple T
E Railway Stn [I:I:I:I:DII] Hospital ] School

QarHssiu’Herer UL, Biblane iepBSETET Bi6Tay
Options :
70819144355, #Teué Blanawid SienbgleTarans eSl 5 B 2 wirwmeng.

T s i = e = 0 ® v
20819144356, 21T BiewwpgiaTer QL Seng eflL5 b 2 wiyoTeng.

STeua Hlenanuld enwhgarer @ L &HhHE oW reang .
70819144357. & S|eNLDH AR C) &l

T G T IR . o e
20819144358, —eTell DAevobgieTer @)L SEDE SLTENS).



Question Number : 98 Question Id : 70819113418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options :
70819144359, 41
70819144360, 12

70819144361, 6:1

70819144362, 1:4

Question Number : 98 Question Id : 70819113418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Higher Secondary Education College Education

CuCa 2 drer ey euaTULBISET 2 wWirblaeludal womn sogrfisafa Gemw
oravmeisaflan aramenflémamu GHOLU eIL{ embraddar ojglumLudd
Gevefluusgidlamen. @ennhs euimwraparar Mflefla o wiblamealiuarefl whmwb
sagnfisefle Camb wramerseflar efldlswn

Options:

70819144359, 4:1

70819144360, 12

70819144361, 6 :1

70819144362, 1:4

Question Number : 99 Question Id : 70819113419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :
70819144363, The density of population in urban area is 1000 persons/sq.km.

70819144364. The density of population in urban area is 849 persons/sq.km.

70819144365, The density of population in urban area is 4290 persons/sq.km.



70819144366, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819113419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

yeulderr garliuriiy 510 Wdellwer &.052 oy@h. bwords uridea 30% fleriuriy

2@ Quwrss Heovuriba 3% per Heouuruurgb. 28 wisLCsrms 7.8

Bléedlwan oyl 5% paraundlad. &psaam_aunble erg eflumen ssaedE 2iméd

2 GTENg).

Options :

20819144363, PETeurflaafian i sHwirang) 1000 pLTsaT/ a5y &8 =@

70819144364, DT eundlsatien iidslureang) 849 pLiadT/ #5y &5 @b

70819144365, DETeurélsailen oL isdlurarg 4290 puiisd/sgi £.5 apEib.

70819144366, DAV eurélsatlan oiisHlwireang) 7800 BUTHeT/F5) F.5 @,

Question Number : 100 Question Id : 70819113420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show

70819144367. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819144368 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819144369 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819144370, Increase.

Question Number : 100 Question Id : 70819113420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A, B, Ceranp ppanny paphisaflan 1981 - 2011 sredsi L wisl OFras Spssam
UL aaruLsdla dsrfasiulpereng. Spssar_epfle #flurear sableaan
Cairiols([Hss eyt -

C |
201 B |
A

C
2001 B
A

G |
1991 B

A

C
1981 B |

I I I I I
5,000 10,000 15,000 20,000 25,000

0
Options :
A -an &S Qgrens 1981 W& 2011 cuany iyl atengl. panme C -6 2poeradlng
70819144367, Lelldan.

B -6 1981 (pgev 2011 eueny @érﬂ_ﬁ'ﬁ@ &S L uﬁ@ﬁaaa (GENM S GTETS). 6 Ted
70819144368. A-a &]_Lq_u_l@fref'@.

A -6 1981 (psed 2001 cuanty epeuleurm(h LSSTE([H STa&S 6 Gl UL|ETeT). 2, @TTe)

70819144369, B - 1981 (pged 1991 aueny GenmhgIn Am@ 1991 (pged 2001 eueny Falq b 2 6TeTg).

20819144370, © @ Qar_ibg &8 Cgrans @anbgih wrmrs B -6 &igub sremliu(bidlng.

Question Number : 101 Question Id : 70819113421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819144371, 26 kmhr

70819144372, 21.5 kmhr ™

70819144373, 30 kmhr~!

1
70819144374, 28 kmhr

Question Number : 101 Question Id : 70819113421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



100 eunsenusarilen CeudrbisaT arelil 1L’ () Spésem i L aamanua Coisoieney
ONID UTHETRIGET eTeTentlEend &TLUILL(HETeTs,).

Cous syemay (&.5/ wewf) 6T6T0T 6uet |8 60 5
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

enwwl srrefl Ceusid
Options :

70819144371, 26 410/ el

20819144372, 21.5 &5 /wenf]

70819144373, 30 &l..5/ wenfl

70819144374, 285 &5/ wen]

Question Number : 102 Question Id : 70819113422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.

Others argue ﬂ‘ne}-' raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :



70819144375, As a charity by privileged people.

70819144376. As a way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819144377. ) p & )

70819144378. As an adventure activity.

Question Number : 102 Question Id : 70819113422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :
70819144375, As a charity by privileged people.

70819144376. As a way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819144377. ) p & )

70819144378. As an adventure activity.

Question Number : 103 Question Id : 70819113423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819144379, Learning

70819144380, tATing

70819144381, Feeping

70819144382, Gloating

Question Number : 103 Question Id : 70819113423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’” in this paragraph would be :
Options :

70819144379, Learning

70819144380, ~tATiNg



70819144381, Feeping

70819144382, Gloating

Question Number : 104 Question Id : 70819113424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decreaqing.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options :
70819144383, Both A and R are true and R is the correct explanation of A
70819144384, Both A and R are true but R is NOT the correct explanation of A

70819144385, A 1s true but R is false

A is false but R is true
70819144386.

Question Number : 104 Question Id : 70819113424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



£Cip @rem(h snmEer SrLULL(DeTeTar. e nbm A ganmid wHEnTenmy SMmemrid

R eremeyld GoILALLiul (Hereng).

Falm| A : sLIhg @ram() Lssran(haEerrs gl (h Seuan 2|eTaf Gmnhs)
aubEDg).

gmewnd R @ aflepreuran wimib ereflgren gaaud Gumb eumilyssar 6rbs
G Aurmar Lpflu piaid Bas Gonbs Chréde onbs)
SR

CupsarL sapnsailaruy EpdsarL. sfluraieupdln@ Apméesda o drer sabands

&GRS,

Options:

20819144383, N LPDID R erémuien Filwrareney Gogb A -&@ R -sflwrar ellarésomE .
A wdmib R eremuen #flwurerency <yanmed A -&@ R -Fflurar eflerédswneen.

70819144384. < :

20819144385, > &M @pammred R #flwée.

20819144386. A sflwever wHmb R &,

Question Number : 105 Question Id : 70819113425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.

Reason R : Increasing number of married couples do not want to have children.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819144387, Both A and R are true and R is the correct explanation of A

70819144388, Poth A and R are true but R is NOT the correct explanation of A

708191443809. A is true but R is false



70819144390. A is false but R is true

Question Number : 105 Question Id : 70819113425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Section Id : 708191467
Section Number : 5
Section type : Offline
Mandatory or Optional : Mandatory

Number of Questions : 2



Number of Questions to be attempted :

Section Marks :
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Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

100

Yes

1
708191747

No

Question Number : 106 Question Id : 70819113426 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a proportionate sketch of given reference image by using any black and white rendering

tc-dmiques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice h}-' using any

black and white rendering techniques.

Question Number : 106 Question Id : 70819113426 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819113427 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival bv using colors.

OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i CUBOID A :SIZE 2 cmX2 ¢cm x2 cm, 5 Nos.
(i) CUBOID B :SIZE5 emx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819113427 Question Type : SUBJECTIVE
Correct Marks : 50
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